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n ranges of piano keyboard, more than one string is fumed (o fhe
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s over you at a height of 5000 m and a speed of Mach 1.5.
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Two

loudspeakers S1 and S2 are located 2.00 m apart On the vestial v eus s
Important to mention that S1 is at the origin and 52 on the positive v valies %
listener is located at the horizontal x axis 3.75 m from S1. The interierence of e
two sound waves emitted by S1 and S2 result in a transmitted: Segquency swens
w the audible range (20 Hz to 20 kHz). The speed of sound i air s &

:; a) What are the lowest frin1 and second lowest fanz frequencies that grve
e minimum signal at the listener’s location?
ﬁ b) What are the lowest fmsc1 and second lowest fuw frequencies that gpve

aximum signal at the listener’s location?
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 oscillator and amplifier is adjustable

z sends sound waves into a 7
ed ﬂtbﬂ'&l ends. The speed of sound in air -
ce occur in the pipe when the
500 to 1000 Hz?

s00 < 7 < 7000
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e. None of the above, my answer is
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& wave has a frequency of 610 Hz and travels in air at a speed of
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5. A particle has a displacenend 7 = & 44 1 ':j, wheéte ¢ 16 in meters and 1 is

in seconds. At what Gine Goss e mwsmwn véloeity oceut for the second ¢
time? ¢ 1
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detects a sunken submarine 12
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8. A source emits 104 W/m? of sound isotropically. A small mwﬂ%ﬁfﬁm
at 100 m from the source intercepts the sound in an sz of 050 car. The
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